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The radius and height of the cone are 7 cm and 24 cm respectively. Find the surface area of
the cone (CSA)

(A) 505 cm? “(B) 290 cm?

(C) 360 cm? W 550 cm?

@ sibiler gymid 7 Qe.5, 2 wib 24 Q.S eraflé) cuaneTUTIL STERTS.
(A)  5050Qs182 (B) 290 Qs.52
(C) 360 Q&2 (D) 550 Qg.152

In how many years will a sum of Rs. 800 at 10% per annum compounded semi-annually
becomes Rs. 926.10?

(A) 15 years \M 15 years

(C) 2% years , (D) 21 years

m.800 erenm Gsrenswreng, 10% () algue aumLidng @rarh pen sl eully
SaTEEILLILLLTE erggamen e (Hsalld isQsTams m.926.10 6 wrmin?

A)  1: eumLmsar B) 15 eumLisar

© 2% QU(HLBIGET (D) 24 eumLmisar

Ashok deposited Rs.10,000 in a bank at the rate of 8% per annum. Find the simple interest
for 5 years.

(A) 2,000 ' (B) 40,000
27 4,000 D) 5,000

<iGers 10,000 mpurew w@rREE 8% aranm cully Sss8e @ curkBluded W[ QElgerarTi.
5 e (Hsatler flenL &G0 safl euligamuis smems.

(A) 2,000 B) 40,000
(C) 4,000 (D) 5,000

A reduction of 20% in the price of rice enables a person to buy 3.5 kg more rice for € 770. The
original price of rice per kg is

W 55 B) %45
€ 37 D) % 65

<ifldllen eflene vipen 2 ameo lleaaw eil 20% GapaaliulLrd, @meut 770 MmuUTiiss, srer

uMiIs eubsens el 3.5 SlGem =M SS|BD GUTHIS (LPpig D eTETMITED, @@ HGar Méullen 2 amenio
efleney ereoTen?

(A T55 ' (B) %45
(¢ 37 ' M) T 65
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5. A cylindrical iron pillar 49 cms high and 6 cms in radius is surmounted by a cone 14 cms

high. The volume of pillar is
(A) 5981 cm? -(/ 6072 cm?
(C) 7012 cm? (D) 8154 cm?

@@ Qmburona o mevear euigel granflan CHumd sabl G e hgerergs). o_(meneruilen o Wb
49 @18, 9rb 6 Qe.5, Coab sabi@er o wimb 14 Qg8 eraflé gewtleh &&T 66y wimg;?

(A) 5981 Q.5 (B) 6072 Qg8
(C) 7012 Q&8 (D) 8154 Qg8

6. At the rate of compound interest, a sum of money triples in two years. Then in how many
years it will become 27 times?
(A) 4 years '{6 years
(C) 8years (D) 9years |
gal_(h eullly QUL @ Osmans G)irew(h G)_I@I_ggﬁa) epem L BISTEDg. erafle) gl erdHSane
auHLSH 27 L RSTEWD?
(A) 4 eumLraser (B) 6 eurpLmiser
(C)  8eumLruser (D) 9 eumLmsar

1. The greatest number of four digits which is divisible by each one of the numbers 12, 18, 21-
and 28 is
(A) 9848 (B) 9864
7 9828 (D) 9636
Bren(E @eés erer genem alGs@n Curg B wpeanCu 12, 18, 21 whmib 28 gméarn Wel@uflu
GT 8T
(A) 9848 (B) 9864
(C) 9828 (D) 9636

8. The H.C.F. of two numbers is 16 and their L.C.M. is 160. If one of the numbers is 32, then
the other number is
@ 48 & 50
(©) 96 D) 112
@ eramentlen LGLIMH Qurg L@ 16 Seupdlar Beflny Qurg Lmi@ 160. 32 ereiuig) g erar
eTantleb LoHEM(h GTeRTERTTEIgE).
A) 48 . ®) 80
(C) 96 D) 112
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10.

11.

"

A cone of height 7 ¢cm and base radius 3 em is carved a from a rectangular block of wood

10 em x 5 cm x 2 cm. The percentage of wood wasted is

W 4% (B) 46 %

(C) 54 % D) 66 %

10 0.8 x 5 Q5.8 x 2 Qa8 oene| Qarar Qeaues eugel bILUmSA B 7 Q.5 2 wrb
3 Qe eymib Garem sauby Qeullg erhiss Qeauwliu@Gdng, eafld, adsman sgaigb L& slenL

aliemrmLb.
A 34% (B) 46 %
(C) 54 % (D) 66 %

Calculate the area of a sector whose radius and are length are 6 cm and 20 cm respectively.

(A) 90 cm? F#7 60 cm?

(C)  80cm? (D) 120 cm?

<71 6 Q&.18, efldvadler Bemb 20 Qa5 Qamem (Herer aul_ L Camenls L@GSulen LiTlienLid Smer.
(A - 90 Qa5 : (B) 60 Qa8

(C)  80Qsis (D) 120 Qa5

1

1 1 1 1
Jo-J8 VBT 16 V65 54

Find the value of

@ 0 ®

. 3
© 1 G 5
&I smever 1 — 1 + 1 - 1 + 1 :
AT V8 VB AT AT A6 A6 A5 54

A) 0 (B)

ot W | =

© 1 - O
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12. A cone, a hemisphere and a cylinder stand on equal bases and have the same height. Then
the ratio of their volumes is

(A) 2:3:4 ‘ . M1:2:3

(C) 3:4:5 ) D) 1:2:4

FID DjqUMSD WHMD Fo 2 wib Qe gL, AD@IEESHTATD WHMID 2 (HeveT WHwieumdler,
FHeN2emasaflen G‘Qé],é';Lb GTGTLIg) . '

(A) 2:3:4 B) 1:2:3

(C) 3:4:5 D) 1:2:4

13.  The momentum of a body is given by the relation

(A) Force x Distance

(B) - Mass x Time

{Q/. Mass x Velocity -

(D) Mass x Acceleration
GQar@Esuu L soauT g6 urmaflar 2 G erenug
(A)  efleng x Qgmaneoay
(B) Hleom x smeid
(O Heop x HwsCausid

D) Hew x pHi&sDd

14. The excess of pressure inside two soap bubbles of diameters in the ratio 2 : 1 is
" 12 | B) 1:4
© 2:1 D) 4:1

2 : 1 arenm sa&eiled eNL LD 2 e w @genr(h GCarliys @ulliflsafl Weans oiwsss86m alldsib

(A) 1:2 _ B) 1:4
(©) 2:1 D) 4:1
DGS9 6 =
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16.

17.

mn

What is the percentage of iﬂapuritie's present in Blister Copper‘?

A 5% : - B) 0.5%
& 2% D) 3%

Qamiiyend sTiLfe ereueuemey 856550 M 2 drerg)? |

(A 5% | | : B) 05% '

© 2% D 3%

Most common oxidatioﬁ state c;f Lanthanides
A) +2 - . M +3
C) +4 . : (D) +2and +4
ampgaman(haaflen Qurgieurer op&HeCanhm ﬂsmu
@A) 42 B) +3

© +4 | D) +2 wpmb +4

In sperm acrosome produces hyaluronidase enzyme. The acrosome is modification of
(A)  Lysosome
(B) Ribosome

M - Golgi apparatus

(D)  Mitochondria

eflbg Gedelia apwgiGrmBiGLav erayb Aprdlenw H&@0L SisGTGED erp@enL W rmyur
@) @eGsrGems |

(B) eyCurCGesmb

(C) Camovens 2 miiy

D) w CLrGsren_flwm

7 ” DGS/19
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18. Find the incorrect statement :
(1)  Carbon sequestration : The simple technique is to preserve trees and plants more
(11) Trees take up CO2
(111) They break down CO2in photosynthesis

(1v) They do not store carbon in new wood.

(A) (1) only ' (iv) only
(C)  (i1i) only - (D) (1) only
Seunren eunsHlUSams @g,r’rﬁ@é,@ :

(D smiuer  gallwwubssse - Qsnsrer eeflu apen  wrRsmer UITLASSWID, YSsTE

SITEJTRISENET GUETTLILIGILD SITe
(i) wyisear COz- » ar(B&g6 Qamerdamme
(i) epaflEGargemaulen pped CO2 —.gg 2 L GSlemmen

1v) <eunen ygoriugssaie Calliiuddame

@) ) G , (B)  (iv) o G
(C)  (11) wl B (D) (1) wlw
19. The proportion of gases consists in the sun is

(A) 7.8 % hydrogen, 92 % helium and 0.2 % other gases
\M 92 % hydrogen, 7.8 % helium and 0.2 % other gases
(C) 0.2 % helium, 92 % hydrogen and 7.8 % other gases
’ (D) 92 % helium, 7.8 % hydrogen and 0.2 % other gases
@Mlwetle sremiuBib eurwsaatien ey
(A)  7.8% eanrmeab, 92 % adelwpd, 0.2 % @sr Guquéaa;@m
(B) 92 % ewan_regenid, 7.8 % @Saﬁlm@@ 0.2 % @)& eumu&ser
(C)  0.2% aefellwapd, 92 % enan_Femeand, 7.8 % @7 curuGaer
D) 92 % afelwpd, 7.8 % evanl_remeyb; 0.2 % @& eumyéaer

DGS/19 8
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21.

m

The major energy resource in India is
(A)  Petroleum
& Coal
. (C) Natural gés'

(D)  Atomic energy

@pSureflan psdi ilsss et
@ QUG

B  Beossh

©) Qupams Grrﬂéurrq

D) siaw = Hoe

Where are Deciduous Forests located? ey
(A)  Between 50 and 60 degrees north latitudes

_ \W Subtropical and temperate areas
(C)  Around the equator

(D)  Area gets less than 50 cm/year rain fall

@mug}r ST & ahs LESGD sramiL@Sarnan?
(A) - 50° wpged 60° euL 9is Gan(sEnse @ uid
: (B) Flanent Geuliu LDGn%Tl_a)gg]@ub WOlgGQeuiL LDG&TLGU(&B@@IL'D
- (C) ﬁlmg;@é;(ﬁa;:rrgml_ét sl

D) e sdnE 50 As.8 @aneurs waplCumb ugS

9 _ _ _ DGS/19
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22.  In India Seventh Five Year plan period was from

(A) 1978 -1983
By 1979-1984

@/ 1985 — 1990

1986.— 1991
@bSHwneden arpreug) mbsTam(H &L e
(A) 1978 — 1983
(B) 1979 — 1984
(C)  1985—1990
(D) - 1986 - 1991

23.  The focus of the plan was on growth with social justice and equality.
(A)  Sixth five year plan
(B)  Seventh five year plan
(C)  Eighth five year plan

M Ninth five year plan

GG LbsTeT(HS SlLL (b Gueﬁrraveﬂ(ﬁu_lrr@as faly Wl ST BE HMILD FLOSHUSMS @LWIDTES DETeRT(H

&@Q.I ITSSEBI_I LJLL.@I.

A)  prag gheTETOS SLb

®) b gpsrar®s S b

©  arimb ppsnen®s St
D) genusram mpsten(s HLLD

24.  The bank of England was established in the year

(A) 1594 ' #1694
(C) 1794 . (D) 1894
Qrudonss aurkd QT hisiu L ey '
&) 1594 | |  (B) 1694
© 1794 (D) 1894
DGS/19 10 =



25. IMF was setup with the objectives of ‘assisting the Private Enterprises in developing

countries by providing them
\_{/ Risk capital

(B) Unrisk capital

(C) Capital

(D) Savings

IMF fimeuend euemmid BrHsEheEE ig,equ.b Gjbné;‘5ggjt_eh: ag'r_ﬁlgjajemréjaz@é;@
Sjafgg 2 el Qauidlng).

(A)  @Quiur® epesed

(B) @uiurLpm epevged

(C) ppagerd
(D) Gaﬂuq
26. During the ninth five year plan million people were unemployed.

O 106 million

(B) 107 million
(C) 109 mﬂlion

(D) 105 miillion

@Ghug,ﬁsugj ohstar®h HLsHar Gurg . Wleedlwer Lo&sar Geumaiuﬂléna;m
and GoHsent -

(A) 106 Wevedwen

®) 107 féedwen

(C) 109 W@ewen

(D) 105 Weedwen

il
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97,

- Rajya Sabha consists of
(A) 220 members
(B) 230 members
(C) 234 members
M 250 members
WwhleomIgHeT < eneuudles G]u)rrg.s o mitnenisatien eremrentseans
(A) 220 =2 phleriser
(B) 230 2 mnYenrser
(C) 234 o miieiaer
D) 250 2 pilnQeniger
28. The Judges were elected by the people in
M France (B) Canada
(C)  Australia (D) England
BAudadr wéserted CaihASOESILIEGD WD 6Ths B g WamubHmrinl L g?
(A)  Qgmremev - (B) . seam
€)  evdCraSwm o (D) @rdorbs .
29. A Judge of High court shall hold office until the age of
(A) 58 . ' : (B) 60
\M 62 _ ' D) 65
o wigHloemser g BHUS erhsman auig eueny Lged udliLmi?
(A) 58 cuwgy (B) 60 auwgy
(C) 62 aeuwg (D) 65 auwg
DGS/19 12
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30. Money‘ Bills can be delayed by the Rajya Sabha only for

31.

32.

il

(A) 30 days (B) 20 days

W 14 days (D) 7 days

B8 wCargTHEsmET WTHl Diemel TEsmer HL&6T L (HIb STLSILGSSOTD?
(A) 30 priaer - B) 20 pr_ser
(C) 14 priser - (D) 7 prlsar

The status of the chief election commissioner of India equivalent to that of the

(A)  High Court Judge - \M Supreme Court Judge
(C)” Cabinet Minister ) : (D) District Judge

@ndwu sanaann Cage <y enemrwlifler gﬁa;rfnréjasm WIM(HEE @)enamT i Teg)
A) 2w fHwern EHLSEE (B) osspdwann SHudss
©)  sn90ar. simwssmEE (D)  wreulL fHudse

Consider the following statements. Fundamental duties :
1. have always been a part of Constitution of India
2. have been added through an amendment

3. are mandatory of all citizens of India
Which of these statements is / are correct

(A) 1and3 (B) 1 alone

\M 2 alone (D) 2and3

Gletreu(mLd snpmISSmeT SeuarsSle) QaTers. o lILamL SLeDSET GTeLIg):

L @sdu srdlueenwiben om uGdwursGe eruCurgb B (HHos)

2. @rflueeanly sC L SmpsssHern epaid Carssliul_Lg

3. @& @B Glg DESEREESE, PRSI L HENTES (LPig WITE SYEETUITELD|

@bs sanmsatied Fflwimeng eTg?
(C) 2wl @b "l @) 2 wpgid 3

18, DGS/19
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33. What is the expansion of BMR?

(A) Body Mass Rate

7 Basal Metabolic Rate

(C)  Body Metabolic Ratio

(D) Bone Mass Ratio

BMR Greiﬂug ellfleumsasd wrgy?
(A) Body Mass Rate

- (B) Basal Metabolic Rate
(C)  Body Metabolic Ratio

(D) Bone Mass Ratio

34. In Bentham and Hooker’s classification of plants the number of series and families included

in the class monocotyledonae

: \M 7 series and 34 families

(B) 8 series and 36 families
(C) 5 series and 34 families

(D) 7 series and 35 families

QubsLL LHOID AV EST auealiL ke GorGamar el Gar aiglible Qb Qupmerer cuflengsar
WHMLD @@Lbuﬁwsm QEUELETDE

A) 7 auflengger wnmibd 34 @HDURISET

B) 8 aflenasar wHmD 36 G HDURISGET

© 5 auflsssropgb 34 GHOLRSET

D) 7 auflewsser HMD 35 GHOURISET

DGS/19 14

1



35.

- 36.

37.

]

The university of Madras was set up in 1857 on the model of the
London Uniﬁersity

(B)  Punjab University

(C)  Delhi University

(D)  American University

1857 ilb e  GLLmEy  UDEDOESSD &@.é;aséom__mlr_'ﬁg, vsmssps  wrdflufe
SMOESILILL g7

(A)  a@TLaT LLSMOSHLRHD
(B)  uEpsml UDHSDOEHPSHLD
(C) QLevell vsmOEHPHD

(D) =Cwhssea UOSMLSSLHSHD

How many rebels were taken to Tutukudi for perpetual Banishment after the failure of the
1801 Rebellion? '

@A) 71 ' ' B) 172

W 73 : D) 74

1801 b yawr(h Yyl fuller @g,nwaﬂes@ Yl eoreoTit ﬁr;rgg,rjmrra; prr@ sLESULIL. aTdsemen Guir

| E5815E4EG AmWPpsHg Dadeliul LerT?

Aa 71 (B) 72
<© 73 D) 74

Who was the ﬁist woman president of Indian National Congress?
(A)  Sarojini Naidu
(B)  Sucheta Kripalini

\y Annie Besant

(D) Vijayalakshmi Pandit

@pdw CaAlw srrdlyeden wpge L gameaeu wirir?
4A)  &Grrgdlad pruy®

B) sdsr Hmurafaf

©)  eaQusan

(D)  efgwer &bl Liarig

15 DGS/19 .
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38. When was Mahmud of Ghazni plundered the holy city of Mathura?
(A) 1001 (B) 1008

M 1018 (D) 1024

Yalgs seowmen wgirranet smlafl (psing) eThg 60 (H @Gmmujrrmraﬂrrr'r?

(A 1001 (B) 1008
(C) 1018 & (D) 1024
39. Shivaji attacked Shaistakhan with a band of soldiers in his residence at
Poona.
| (A) 300 (B) 200
© 600 - M 400
GQelleyLsren yemmelley apamblliymbs Curg SHeaurgd uenLeirrsGerm(h

Lpemmall g6 BienLphg) @Lorra;'eurr_u_l LuenL e srddlenir

A) 300 (B) 200
(C) 600 (D) 400
40. Tanjore King Serfoji got pension under subsidiary system. How many lakh?
M 4 Lakh (B) 3 Lakh
(C) 2 Lakh (D) 1 Lakh

BErFTaLT SiyeT srlums gaveant uanL g S L sdler S Quipp @UaLSLID TEsmaT L_F1bh?

A) 4 @ersd | (B) 3@aelsd
(C.) 2 @al &b D) 1gelsd
DGS/19 | 16 &



41. Who led the Mughal forces in the battle of Haldighati against Rana Pratap Singh of Mewar?
(A)  Akbar S
(B) = Prince Salim
W Mansingh

(DY  Birbal

Gueurflen prentm Grsrl Hrdpse edrmar apradlar Curila (pasmu rraneusans eulfl BLsSweur
(A =surm '
B)  @ereuysr gedid
(C)  mendi
(D) Siure

42. Who built the “Golden Temple” in Amritsar?
- W Guru Ramadhasar
(B) Guru Amardhasar
(C)  Guru Nanak
(D) Guru Angath

siflrssradler “QUrpCaneilas” s g wieui wiri?
(A  ©myrogTET

B) G swisTaT

©  sopras

D 660 ownss

43. Where is SPIC Fertilizef plant situated?
(A)  Chennai (B) Coimbatore
(C) Thanjavur y Tuticorin

w198 2 76 dsmfnsrene érréu@ S{enLohgleTeng)?
(A)  Gaerenen (B) Gamwubusgnm
(©)  sépsmapt D) grssi56
| 17 _ DGS/19
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44, How many world Tamil conferences were conducted in Tamilnadu?
A 8 “ay, (B) 6

© 5 G’ 3

sOWssH® BLSSULL L 2 &5 SO IHTHSET eTEHHem e ?

A 8 : (B) 6
€ 5 (D) 3
45. Where is world’s first partition Museum inaugurated recently?
M -~ Amritsar ~ (B) Lucknow
(C)  New Delhi (D) Bangaluru

Si@Ten Uy 2L FbIAGSLILILL 2 Qe (LpSed GifleSlenen oi(HRIGTLSWSLD 6TMH @ SHeDIDHSIETEE)?
A) llrgsren | B) @&Gearm
©)  ugBie (D)  QuiksseEss

46.  Which one of the following National Highways connects Delhi and Lucknow?
(A) NH7 (B) NH 12

W7 NH24 | (D) NH 40

Gereumd Cadlw Qp@H Ehemeamasafle 1y dallawub e&Gamamaiuyhb GlenenTiiLigl 6T&?

A) NH7 _ : (B): NH 12
- (C) NH24 (D) NH 40
47. In whose period of ruling, ‘self-respect weddings” were recognized legally in Tamilnadu?
(A) K. Kamarajar = MC.N. Annadurai
(C) M. Karunanidhi (D) M.G. Ramachandran
WIT(TH M L_LLI L HEETassle, 'g,@ga;g;f,\eb ‘Fwwilwreng S (HLOGT BISET FLLLTeULONS
omssNesinlLg? . . 2y
(A) . smogTET (B) &.eran. ieremtrgient
©) . smarTHlE (D)  erb.g). QomnssnhElyer
DGS/19 ' 18 =



48.

49.

50.

51.

Ll

Which is called ‘Red Planet’ of Solar System?

(A) Earth : M Mars

(C)  Jupiter ' (D) Saturn
G&Mw werr_esdler ‘FHeouliy Srsb’ erar HeppssliL(hHeus) 675 ?
A) gy (B) Qeeueumi

(C)  efwmpen R D) saf

Who is the Chairman of Tata sons?

(A) Ratan Tata | M Natarajan Chandra Sekaran
(C) Nowroji Saklatwala ' (D) dJohn Mackey

LTLT G(pwsdler senaento Gummilidle o erereur wimi?

(A)  pser LT ‘ (B) mLyreen snglpGasyen

(©) QmperGrred ssedeurem (D)  grer w&s

 Which Day is observed as ‘National Voters Day’?

(A)  12th January : (B) 15th January
(C) 20t January ; M 25t January
aThg Brer Caflw eurssment Qarruﬁrr&. <igefastiu@mng?

(A) ggema.uﬂ 12 | | (B)  gemeuf 15
(C) sameufl 20 ' . (D) geweurl 25

Who has won Kalpana Chawla award 20177

(A): Reshma Sharma (B) Ponni
W . Preethi Srinivasan - (D) Kamini Kaushal
2017 - b yewTigHETET HedueTT Freuedr 6ll(hHlanar QeaTmaeuT u_lrrr'r?
(A)  Greiglom gfrom (B) GQumenafl
(C) Wfsd Safleunsen _ , D) srlef Qsearaa
19 ‘ DGS/19
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52. 63% of 3% is

A 22 (B) 2.40

(C)  2.50 ' D) 2.75

3% -6t 63% & e

@A) 225 | B 240
(C) 2.50 ' (D) 2.75

53. The radius of a circle is increased by 1%. What is the increase percent in its area?
A 1% B) 2%

© 11% P 2.01%

@ eul_L_S&leb 4mb 1% aﬁarﬂéaﬁ]m@ erafler e Uil SiHaflé@h F56i50 ereueuarey?

A 1% _ B) 2%
C 11% _ (D) 2.01%
54. If 3 persons weave 168 shawls in 14 days, how many shawls will 8 persons weave in 5 days? 7
(A) 90 _ (B) 105
©) 126 : W7 160

3 Gum, 168 CweramLsmear 14 mrisefle Gpudament. eafle 8 Cum, 5 prisefld® eszsemean
Cueran_semer Qpuieui?

A) 90 ' (B) 105
C 126 (D) 160

55. If 2% = ﬁ then find value of x.
A 5 (B) 3

© 35 @7 53

2% =332 eraflér x -am Wiy ser. - -

A 5 . (B) 3
© 355 ®) 503
DGS/19 | 20 =



56.

57.

58.

59.

1

Find the perimeter of a sector whose radius and central angle are 18 cm and
210° respectively. ' '

(A) 120 cm (B) 110 cm

W 102cm : (D) 108 cm

<o 18 Ws.18 wpmib evwws Carenrd 210° erané Gasmeamm eul L Camanry) uGHulles sppeTeneus
HTETE.

(A) 120 Qs.5 | (B 110G
(C) 102 Qs.8 (D) 108 Qa8

If the volume of the solid sphere 72411 cubic cm., find its radius.

(A)  13cm ' (B) 10cm
© 1lem - @ 12cm
@ Slamo Cerargdlen sar sierey 7241+ &.Qs.18 crafld Sipen < réms srems.

A) 13 Qs.8 (B) 10 Qs.8
€) 11Qs.8 (D) 12 Qa8

The price of a house is decreased from rupees fifteen lakhs to rupees twelve lakhs. Find the
percentage of decrease.

W 20% B) 30%

©) 10% : (D) 40 %
7 @@ ailiqen eflenew, 15 @eol &b erumufed @mHgl, 12 wlish muTUTSsS GODHSS eTafle) Gamnbhs
FHEISID HTeHT. :
A)  20% B) 30%
(C) 10% D) 40 %

1.6 expressed as a fraction is
16

- B
o (B)

w’g )

1.6 eremuig;) ey pLGIGTELHOIET 6Tl W etmeng) & @& FLob?

(A4)

w|n o5

16 16

il By =

&) 10 ®) 9

5 : 4

(C? 5 ‘ (D) r
21 | DGS/19
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60. - Pick out the incorrect pair from the following.

(A) Generat_or rule
(B)  Law of conservation of charges

(C) Law of conservation of energy

y Voltage law

- Fleming’s right hand rule

. _  Kirchoffs I law

- Lenz’s law

—  Coulomb’s law

Wl eTeu (MU GTELDMIET HEUMTET B)ENEHT GTE) 6T EN&H SHTEmTs.

A) - derelupdl afd
“(B)  Slewepri cguaéla%mmm aﬂ]gﬁ]
C)  <=hne sfefeaamn 658

D)  Henanpss o

— ol Qemilmidler cueng) eng ellSl
= : é][ﬂé‘:a:onoli’ (g)g)é\.) @g}@
- Glevetren 6llS)

- &m@nb g

61. A fruit seller bought 8 boxes of grapes at Rs.150 each. One box was damaged. He sold the
remaining boxes at Rs.190 each. Find the profit / loss percentage. '

(A)  Profit 130 % -

M Profit 10.83 %

(C) Loss 130 %

(D)  Loss 10.83 %

e up wrurfl 8 Quiy, Srmiamssmar, ¢ Qi.lLiLor t5.150 gl eunmbigle. 2 em Quilg
Syl ens s AGADg. Bapeter Quiysmar @ Gl @.190 erer MevavdE eNnSmm.

@y [ BLL s856I5D SMew.
(A)  emub 130 %

(B)  emub 10.83 %

(C)  prib 130 %

D) ®mLlLwb 10.83 %

DGS/19 22
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62. A sum of Rs. 1,300 is divided between A, B, C and D, such that A’s share  B's share =

63.

64.

"

s B’s share” C’s share
C’s share _ 2 .Then A’s share is :

D’s share™ 3 ‘ :
(A)  Rs. 140 : JRS. 160
(C) Rs. 240 (D) Rs. 320

em. 1,300 eranp Agmensenw A; B, C, D eranp preveumae @eanCu Spssareurm GRssiuBdpg.

Aerubie  Beaumg Cearukg = 2 eraflés A-an Lk

Benuiig Carum@ = Derubg 3

(A)  @m 140 - (B) . 160
(C) em 240 (D) em. 320

Which of the following fraction are the largest? -
: J 7 ' 13
i By ==
8 B) 16
31 ' . 63
C — D 2
© 40 - © 80
ﬁ]é‘uTGu@Lb Aenaniisaiiey erg) WalGufwg?
7 13
A — By o=
(A) g (B) T
31 63
<€  — D) —

40 _ ‘ 80

The L.C.M. of two numbers is 12 times their H.C.F. The sum of H.C.F. and L.C.M. is 403.
If one number is 93, find the other '

A) 120 - \(.B/ 124
) 128 \ (D) 134
@\ Grgiara;aﬂsh B&fm iy euellm eramsafler SUQUEH wHUGer 12 w_kisr@bh. G\ eransafien
Baflm iy woHmibd BUGum wHlber s (hs dgrans 403. ¢ erewr 93 erafley WHEMM(E 6TewT cTemeT?
@ 120 (B) 124 |
© 128 | (D) 134
23 DGS/19
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65. The unit of magnetic i.nduction,
(A)  Nm @ A
(C) NA?m’ (D) Am™>
S1H5S glemeler e,
(A) Nm™ - e B) NA'm™*
(©) NAZm’ | D) Am’
66. Stretched rubber chord is an example for | 2 €
(A) Kinetic energy M Potential energy
(C)  Thermal energy | (D) Electric energy
Qpésliul L glu g srg,@@' THSSESTLH '
B)  @ués i B)  favw ppp
(C)  Geudu o \ (D) Blem ppmed
67. The hybridisation in IF7 molecule is
A sp o (B) SPsd?
© SPd O’ Spds
IF pevisangBiéh o direr @andsariLy
(A) SPs | - (B) SP3d2
(C) SP3d ' (D) SPb3d?
68. The geometry of the complex 1on [Fe(CN)G ]4' 18
(A) Tetrahedral .~ (B) Square planar
M Octahedral : (D) Triangular
[Fe(CN),]* ereimm oienenray .@{U_I‘Gﬁﬂuglﬁ.ﬂ Sy
A)  pragpd - | (B) sgiserd
)  eaampd D)  apéCariamid
DGS/19 ' Y
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69.  Match the percentage of human Leucocytes

(a)
(b)
()
(d)

(a)
o i
B) 3

(©
(D)

Neutrophils 1 1-4%
Eosinophils 2 207— 30 %
Lymphocytes 8.: Qb= 3.0 %
Monocytes 4 60 —-70 %

®  © @

W = A~
[ o N S

3

1
2 4
1 g

waflg @@ﬁm@iéﬁ;aﬂm sgeissms QUTMESS -

(@

(b)
(©
(d)

A)
(B)
©
D)

Bluy Comsalleb et . 1-4%
GCw e, A ser 2. 20-30%
SDCLTerF Hae 3. 05-3.0%
Gmn@mn@&ﬁ_@&&r 4. 60-70%

(a) (b) (© (d)

1—A‘ b W
b = = W
LW = R DN
= W N =

The minerals which help in cardiac functions

\M Potassium and Calcium

(C) '

D)

Magnesium and Calcium
Zinc and Iron

Calcium and Phosphorus

@sw @wssngarea genean el safl bhiser

(A)
(B)

©)
D)

i

Qurl L rflwb whmib sredflwb
G satfwid wHmb sredwib
HISSHTHED LHMID G By
Sréflwib LD-’F_i)g]ij LITEU LG

25
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71. Ifyou placé your hand underneath but not touching a kettle of hot water you mainly feel the
presence of heat from '

(A) Conduction

Convectlon

M Radiation

(D) Internal energy

GLmar B o arer urrg,g,]qg,gﬁm Qg uile) sigemar GsTLTD® s ereusb@d Gurg), Ceuliusams 2 awry
SHITITEHT LD :

(A) Qeauliu sLgzo
B) QeuliLs Feoed

(C) Geuliu sdieSse

D) =syHoed

72.  Which of the following is an example of mid-latitude desert? '
(A) Sahara desert
(B)  Arabian desert

(C)  Thar desert

\M Patagonian desert

&G Qar@ssiu’_Herer uramaaambaafley wiHu o s Crans LTmIRTD 6Tg)?

(A)  EETIT UTENEGUEILD
(B) =CGrwes LiTenavauatD
©) ST LIMEHEIEIETLD

(D) QuiL Caraflwen LiTenaEUESLD

DGS/19 . 26
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73.

il

Match the types from List - A with their occupatioﬁs from List - B
List A - List B
. (Types) ‘ (Occupations)
(a) Primary 1. Research
(b) Secondary 2 Telecommunications
(¢) Tertiary _ <3, Hu.nting
(d) Quaternary 4 Transforming clothing from cotton
Codes :
(a) (b) (c) (d)
(A) 3 2 4 1
@)’ 3 4 P) I
€ 4 3 1 2
D)y 4 1 2 3
uligwe A s uligwa B g;sh_@un@ggf,], &G Qar@ssiul_(Herer @duiGemens Ceme () afuwimer
aflenLenw CaiBEs(H :
Ul gwe A uligwe B
(euensserT) _ (Qampleger)
(a) pse Hevas Asmfle 1. %r}nu]éﬁ
(b) @rarrLmb Hlenaws Gsmfbe 2 QsrenesAsm_iy
(©)  epapmbd Hleanes Ggmifled 3. Caul_enLwim(hised
(d) prevsmbd Hlavews Qsme 4 UmESH NN (HHS penL SWirGse
@O ser
(a) (b) (©) (d)
(a) 3 2 4 1
B) 3 4 2 |
(C) 4 g 1 3
D) 4 £ | 2 3
27 - DGS/19
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74. defines a Central Bank”, as a bank which controls credit”.

M H.A. Shaw

(B) Adam Smith
(C) Hawtrey

(D) Samuelson

“Griow euridl BT Ig 6l HLGnEé EL@LJLJ@‘S;Q]LB (1 SIEWLILIMED — 6T ool cUEISl&EE B)a&aemTid
aUGSSU

(A)  HA. agr

B)  <Lwbeads

(C)  anm Gy

D)  srapGeucvaen

-

75. GATT was set up in 1948 in
' (A) England

- (B)  Japan
(C) Russia
Geneva

1948 b spar(® GATT enoiiy erii@ gHUBSSILLL &P
(A) Grdermg '

B) sourer
©)  pegwr
(D) Ggafleur
76. In 1990 unemployment was - : million.
@/ 28 | (B) 52
D) 72
1990 e Geuenev cumiiiLnCpre erammenilEana : Wlevedlwiesr
(A) 28 | - B) 52
) 48 D) 172
DGS/19 28 pam



77.  Who presides over the meetings of Rajya Sabha?

(A)  Speaker

\M Vice president

(C)  President

(D)  Prime minister

rbleomisemeney gal L hi&EhHE SmaeL STEE L &Ll
(A sumBmwsT

B)  gewar Gyursssmaert |

©  enursssooa

D) LS]l;rg,Lbr'r

78. Which Article permits separate constitution for the state of Jammu and Kashmir?
(A)  Article 360

(B)  Article 390

- P Article 370

(D)  Article 152

L sl wrlon erbhg elufen Lig safl SiTéuaeamoliend QummeTerg)?

A) o 360
B) &9 390.
(C) @5@. 370
D)  off 152

29 DGS9
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79.  The book “The spirit of Laws” was published by

(A) Bentham

M Montesquieu

(C) Jean Bodin

(D)  Aristotle

‘s Liusaflen 2 07 erenm Hrene er(psluei

(A)  Quengmb

(B)  wraGevdly,
©) e Gumgen

D) - sifcoLm igd

80. ~ Who said “Judges” elected by people at large is without exception the worst?

W Laski

(B) Garner
(C)  Finer

(D) David Easten

BHudlsar wésemmed Gg,r'rﬁ@g,@é;e;uu@m. apeny Guorsioreng) crand sadluieui
A) wn&na&] _

(B)  anient |

©)  evuani

(D) Grefll meivL e

il

DGS/19 30



81.  Which of the following is a feature of the parliamentary system?
(A)  The president is the real executive
(B)  Individual responsibility

\M Collective responsibility
(D) - Powerful Judiciary

&1p eu(meUETEUHMIET 6TEI LIMTTEHLOGHD <A JETHRIG (Lpenmudler @bqu FETENLD
A) Ghwurss smeell 2 @enoWImeT HTeUTs SE6euT et

(B) seafluGummiiy

(C) s (G0 Qurmiiy

(D)  euslenowiren BHsgHEnD

82. In the Parliamentary form of government the members of the council of ministers are

collectively responsible to
(A) The Head of the state

(B) The C_hairinan of the upper House and the spelaker of the lower House

\@( The Parliament

(D)  The Prime Minister

LI T(@HLOGT Sremhs  opepuied  emwEsgmeuden o minlertaer  wWMhEE sl (L

QurmliLen L wWeuTgerT

(A)  sirflen saneu(HESE

(B)  Guwmauien smmet whpib Spmailer sLTPILSDEE
©  ummeswaifne

(D) LS]Ug,LD cmsm[;ér&@é@ :

31 ' DGS/19
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83. In Glycolysis Fructose 1, 6 bis — phosphate is cleaved by a enzyme to two molecules of
3C compounds — dihydroxyacetone phosphate and glyceraldehyde 3-phosphate. Name that

enzyme
(A) - Hexokinase ' (B) Enolase
(C)  Pyruvickinase M Aldolase

feversredflev LigHemeuia GrsCmev, 1, 6, GevurenGul Aprdlaw vwearu®ss, 3C Gram®H
eadEam N el evanl fraedl FCLTear urenGuUL LHMID fareyregean(® - 3 - urevCULLIE Wwmmb -

9I&MHE LwerLHb Cprs eremet?
(A  Cen&GsransGaran (B)  aGanmGaven
(C)  euemelldanaGenen D) =oGLrCeen

84. Match the List T with List IT and choose the correct option.
List I List 11

(a) Treaty of Madras 1 1763
(b) Treaty of Paris 2. 1769
(¢) Treaty of Mangalore ' 3. 1792
(d) : Treaty of Srirangapatanam 4,

1784

(a) (b) (©) (d)

A) 4 3 2 1

® 1 2 3 4
o 2 1 4 3

(D) 3 4 1 2

Lgwe I, utgwe I & Qurmss sfurarens Csinb0s@ssab

uiguwied I ‘ utigwed 11
() Glgmev 2 L 6l &ans 1. 1763
(b) urflev 2L eTLIgSans 2. 1769
(€)  DEISEHT O L 6MLIG&HDS 3. 1792
(d)  uSriasiuligend o L 6Tulgdend 4. 1784
(a) (b) (c) (d) -
(A) 4 3 2 1
B) 1 2 3 4
(Cx 2 1 4 3
D) 3 4 1 2
DGS/19 : 32 =



85.

86.

" 87

1]

Guru Ram Singh'’s disciples were called as

&7 Kookas - (B) Namdharis
(© Sandelas _ (D) Panis

& Trbdnidlen a6 ereucurm SeppSaLILLLaniT?
A @sstev : B) prbgriev

(C)  smawmGLevr . (D)  ureanflev

Khonds were the tribal people of

(A) Bihar M Orissa

(C) Bengal ' (D) Assam

Carar(Hser eThs @)L_SensF FMTbS LILPEIGLy G)6T LDSEET
(A) Sar : ' B) efer

.(C). GUIBISTETLD l (D)  =evenmd

Highest peak in South Indian Peninsula

(A)  Palaghat pass : w{/ The Anaimudi
(C)  Doddabetta - (D) - Karle
Qeenafpdi SusnusSern s o b LDEnGVF F&TD - GTETLISTGLD.
(A) uressT () sawTeum : (B) %Gmem@q_ '
(©)  Qarii Quiim D) &mCGa
33 DGS/19
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88. Identify the incorrect pair

(A)
B)

Ibn Battuta -

Nicolo de conti —

W Abdur Razzak -

D)

Domingo Paes —

Morocco

Venice

Arabia

Portugal

geunmen QUTHESSSEH e (hiYlg

(A)
(B)
©
D)

@uem ugNST
HlaGanGer 1 Cameirg.
DG TETE

CLmimGsr Lwev

89. Match the folloWing :

(a) Diwan -1 - Wizarat
(b) Diwan-1i- Ariz
(¢) Diwan -1 - Rasalat
(d) Diwan -i- Insha
(a) (b) (c)
Ay 1 2 3
7 2 1 4
) 3 4 1
D) 4 3 2
&@&SG@TL_@J[.DGU;[D Qunmsss
(a) Seuren-@-eflenys
(b)  Beunen-@)-iflav
(©  Hardr-@-revas
(d) Heurer-@)-@enagm
(a) (b) (c)
A 1 2 3
By 2 1 4
(C) - 3 4 1
D) 4 3 2.
DGS/19

(d)

A

e B0 IR

— b W W

Qurpr&Car
Qeuarflev
cﬂ@mﬂ]wrr

CuUMTEsH&S0

In charge of Army

In charge of Revenue and Finance
Minister for Communications
Foreign Minister

Husml_gg,jsmgp

Gu(meums LMD Bl& Hlreumasnd
56U LFHTL_TLSHHIEDD

SWPIDESEIDD

(d)

= b W

34
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90.

91.

92.

93.

m

Which of the following hills connect eastern and western Ghats?

(A)  Aravalli (B) Vindhya
W Nilgiri ' : (D) Satpura
Slemeu(meuanaupmeT £lipsE wHmb Cone waws At Téfsmer GaeaméEh @)L Lb org)?
(A e - (B) &S wene
(C) Bed D)  ensygm

Which one from the following Southern railway divisions was disestablished?

(A)  Palakkad x7” Coimbatore
(C)  Tiruchirappalli (D) Salem

@Gﬁ@u@m Qzh @ @ruileCeu CamLnsafld smadsiiulL g 6rg?

A) - uressm() , (B) Cﬁa;rrﬁ_n.bugg,n_fr
©)  Hmedymiieraf (D) Csawbd

The first Non-citizen awarded Bharata Ratna was

(A) Mother Teresa M Khan Abdul Ghaffar Khan
(C)  Nelson Mandela (D) Aruna Asaf Ali

uns pgem efl(mg unm PpS @S GlqD&HET e THeuT

(A)  eewean Agrer (B) smew =luged sLILMT Sre
(C)  QApésar warrGLem (D) oimamrT &Ll el
Pichavaram has type of forest.
(A) wet evergreen forest (B) moist deciduous forest

P mangrove forest (D) subalpine forest
Qégreugsdle QUGN SIT(NEET 2_GTETEs
(A)  mFplLSmWL &THSET (B) e Geveowdli STH&ET
©)  sgiiiy Hassr@sdr (D)  ca@mel ar(sar

35 - DGS/19
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94. Which is the smallest country in SAARC?
@5 | Snilarks | @/ Maldives
(C)  Bhutan : (D) Nepal
&g enolide @b Qubpn Wissddlw Br@H erg?
Q) Qeonms B)  wresse
(C) wuLnmen D) Cpurend
95. Which country offers $1 million aid to Tonga that was devasted by cyclone Gita?
(A)  Saudi Arabia (B) Pakistan
\g;/ India | (D) Indonesia
@oreuafl Eg55me0 Cuiflees spdss CLmasTelnE e Waedlwe Lrwamy Qarhés 2 sallu BT
l . | .
(A)  sayd SCrAwr (B) undlevsgren
C)  @ndur | D) @rCsrGeardlwm
96. Which is ‘The State Bird of Tamilnadu’?
(A) Crow ; (B) Peacock
M Emerald dove (D) Sparrow
SUOILPHTL g 6 THlels Lmaneu 6Tg)?
(A) @b ; : B)  wule
I (C) wrasypr D) A Hé@mes
DGS/19 36 =




97.  Where is the headquarter of world bank?
(A) New York, USA (B) London, England
M Washington, USA (D) Rome, Italy

2 08 U6 FENQENLDWISLD GTTRI(GETETE?

A Blywnris, HGwfésr (B)  ovam_an, @ridlarbg
(C) erefmer, SQwflssr (D)  Cymd, @ssmed
98. When had been Electronic voting machines introduced in India?
&) 1996 P 1998
(C) 2000 _ (D) 2004

@ndwreileh eriGung Wlemanan eursEL Lgley arbdlrhiser SAMpsiiuBHSILL L 6?
(A) 1996 (B) 1998 '
(C)y 2000 (D) 2004

{ 99. Which state is called the Sugar Bowl of India?
(A) Kerala (B) Tamilnadu
w Uttar Pradesh (D) Punjab

‘Qrdurelilen srssanys Samennd’ eran SePaESLILIHD WTHlaD 6rg)?
(A)  Caperr ' B) slpETEH
(C) 28875 Cssbd D)  uEpam

100. Who among the following became the first women IAS officer of India?
(A)  Aruna Sundararajan \ﬁ{ Anna Rajam Malhotra
(C)  Shantha Sheela Nair (D) Mugdha Sinha

Qar@hssiiu’ L eursafled g.65.6re ifHamilwrer wpge GBS w @uaoefil wmi?
A mewTT &BSTTTEM 6T (B)  ieenm prggid webGammgym
(C)  smBsTafeom BT _ D)  @pssr Aenanm

1
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GENERAL STUDIES
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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

2: This Question Booklet contains 100 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced. '

3. Answer all questions. All questions carry equal marks.

4. You must write your Register Number in the space provided on the top right side of this page. Do not

* write anything else on the Question Booklet.

5. An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

6. You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

8. In the Answer Sheet there are four circles (&) ®, © and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

o) NONG)

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of

examination. After the examination is concluded. you must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.

10. Do not make any marking in the question booklet except in the sheet before the last page o
the question booklet, which can be used for rough work. This should be strictly adhered.

11. In all matters and in cases of doubt, the English version is final.

12. Applicants have to write and shade the total number of answer fields left blank on the boxes provide
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number
answer fields left blank.

13. Failure to comply with any of the above instructions will render you liable to such action or penalty
the Commission may decide at their discretion.
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